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Descriptive Statistics
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Hasil pengujian Arellano bond, panel 3:
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       trade         128    .4520273    .5251204      .0362     2.1458

                                                                      

    life_exp         128     70.5207    5.813988      58.35       82.6

     linvest         128    23.69079    1.732888   19.30091   26.49754

        educ         128    .1617242    .0436691      .0727      .2839

         ppp         128    .3439063     .124453        .15        .71

    ltnumber         128    15.38334    1.118153   12.06105   17.21414

                                                                      

    Variable         Obs        Mean    Std. Dev.       Min        Max
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        Standard: _cons

Instruments for level equation

                  L(2/.).L.life_exp L(2/.).L.trade

        GMM-type: L(2/.).L.ppp L(2/.).L.linvest L(2/.).L.educ

Instruments for differenced equation

                                                                              

       _cons    -3.362957   1.210899    -2.78   0.005    -5.736275   -.9896389

              

         L1.     .5882517   .0677684     8.68   0.000      .455428    .7210753

    ltnumber  

              

       trade     .3295955   .1331593     2.48   0.013      .068608    .5905829

    life_exp     .0665569   .0201074     3.31   0.001     .0271471    .1059667

        educ     -.291934   .6046817    -0.48   0.629    -1.477088    .8932204

     linvest     .2202648   .0704613     3.13   0.002     .0821633    .3583664

         ppp    -.7710684   .5083377    -1.52   0.129    -1.767392    .2252551

                                                                              

    ltnumber        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

One-step results

                                             Prob > chi2           =    0.0000

Number of instruments =    102               Wald chi2(6)          =   1873.24

                                                               max =        15

                                                               avg =        15

                                             Obs per group:    min =        15

Time variable: year

Group variable: id                           Number of groups      =         8

Dynamic panel-data estimation                Number of obs         =       120

> ests(2)

. xtdpd ltnumber ppp linvest educ life_exp trade l1.ltnumber, dgmmiv(l1.ppp l1.linvest l1.educ l1.life_exp l1.trade) art
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        Prob > chi2  =    0.5469

        chi2(95)     =   92.7274

        H0: overidentifying restrictions are valid

Sargan test of overidentifying restrictions

. estat sargan
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        Prob > chi2  =    0.1056

        chi2(94)     =  111.4627

        H0: overidentifying restrictions are valid

Sargan test of overidentifying restrictions

. estat sargan

        Standard: _cons

Instruments for level equation

                  L(2/.).L.life_exp L(2/.).L.trade

        GMM-type: L(2/.).L.ppp L(2/.).L.linvest L(2/.).L.educ

Instruments for differenced equation

                                                                              

       _cons    -1.441185   .9549057    -1.51   0.131    -3.312765    .4303961

              

         L1.     .6690436   .0525017    12.74   0.000     .5661421    .7719451

    ltnumber  

              

  dummy_2003    -.2497498   .0351045    -7.11   0.000    -.3185534   -.1809461

       trade     .2155343   .1019875     2.11   0.035     .0156426    .4154261

    life_exp     .0549743   .0152958     3.59   0.000     .0249952    .0849535

        educ     .4091424   .4678663     0.87   0.382    -.5078587    1.326143

     linvest     .1150241   .0553105     2.08   0.038     .0066175    .2234306

         ppp    -.4485365   .3871614    -1.16   0.247    -1.207359    .3102859

                                                                              

    ltnumber        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

One-step results

                                             Prob > chi2           =    0.0000

Number of instruments =    102               Wald chi2(7)          =   3324.85

                                                               max =        15

                                                               avg =        15

                                             Obs per group:    min =        15

Time variable: year

Group variable: id                           Number of groups      =         8

Dynamic panel-data estimation                Number of obs         =       120
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        Prob > chi2  =    0.2714

        chi2(89)     =   96.6684

        H0: overidentifying restrictions are valid

Sargan test of overidentifying restrictions

. estat sargan

        Standard: _cons

Instruments for level equation

                  L.ppp L.linvest L.educ L.life_exp L.trade

        Standard: D.ppp D.linvest D.educ D.life_exp D.trade LD.ltnumber

        GMM-type: L(2/.).ltnumber

Instruments for differenced equation

                                                                              

       _cons    -4.021046   1.089947    -3.69   0.000    -6.157303   -1.884788

       trade      .295428   .1297032     2.28   0.023     .0412143    .5496416

    life_exp     .0722552   .0200553     3.60   0.000     .0329475    .1115628

        educ     .4470479   .5467857     0.82   0.414    -.6246323    1.518728

     linvest     .2484884   .0688171     3.61   0.000     .1136093    .3833675

         ppp    -.9005815   .4954155    -1.82   0.069    -1.871578    .0704151

              

         L1.     .5573425   .0678412     8.22   0.000     .4243762    .6903089

    ltnumber  

                                                                              

    ltnumber        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

One-step results

                                             Prob > chi2           =    0.0000

Number of instruments =     96               Wald chi2(6)          =   2262.82

                                                               max =        14

                                                               avg =        14

                                             Obs per group:    min =        14

Time variable: year

Group variable: id                           Number of groups      =         8

Arellano-Bond dynamic panel-data estimation  Number of obs         =       112
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        Prob > chi2  =    0.0113

        chi2(89)     =  122.1711

        H0: overidentifying restrictions are valid

Sargan test of overidentifying restrictions

. estat sargan

        Standard: _cons

Instruments for level equation

                  LD.ltnumber L.ppp L.linvest L.educ L.life_exp L.trade

        Standard: D.ppp D.linvest D.educ D.life_exp D.trade D.dummy_2003

        GMM-type: L(2/.).ltnumber

Instruments for differenced equation

                                                                              

       _cons    -3.018264   .8233514    -3.67   0.000    -4.632003   -1.404525

  dummy_2003    -.2393888   .0325892    -7.35   0.000    -.3032623   -.1755152

       trade     .2194883   .0966262     2.27   0.023     .0301044    .4088722

    life_exp      .071994   .0148845     4.84   0.000     .0428209    .1011672

        educ     1.114583    .414051     2.69   0.007     .3030583    1.926108

     linvest     .1718271   .0520863     3.30   0.001     .0697398    .2739143

         ppp     -.727706   .3696752    -1.97   0.049    -1.452256   -.0031558

              

         L1.     .6041959   .0508544    11.88   0.000      .504523    .7038688

    ltnumber  

                                                                              

    ltnumber        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

One-step results

                                             Prob > chi2           =    0.0000

Number of instruments =     97               Wald chi2(7)          =   4165.51

                                                               max =        14

                                                               avg =        14

                                             Obs per group:    min =        14

Time variable: year

Group variable: id                           Number of groups      =         8

Arellano-Bond dynamic panel-data estimation  Number of obs         =       112


